
TOEIC Part 3-14

Choose the best answer.

Questions:

1. Why can’t the woman print her memo?

A) Wendy is putting toner in the printer.

B) The printer is tied up

C) The man is fixing the printer.

D) Her computer is broken.

2. What is the relationship of the man and woman?

A) Boss and employee

B) Husband and wife

C) Colleagues

D) Computer Technician and client

3. What does the man suggest?

A) Print her memo

B) Save in disk and print in other department

C) Ask Wendy to stop printing

D) Fix the computer


